Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - V- EXAMINATION - SUMMER 2016

Subject Code: 3352904 Date: 19/05/2016
Subject Name: Production Planning
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q1 Answer any seven out of ten. €Ml SlEURL Ulcdotl wallet AW, 14
1. Define Metric count.
1. RAZls s1Ge ol cavau cul.
2. Convert 50s Ne to denier.
2. 50s Ne o 3o{laR Hi ¥4l
3. Calculate the draft if sliver hank is 0.1236 and roving hank is 1.5.
3. %l AUSAR 85 0.3 6 ol Aol 85 1.U 8lal Al slse 2l
4.  Calculate the resultant count if two yarns of 40s Ne and 60s Ne are doubled.
¥. %l 40s Ne ol 60s Ne oll 6l Lol ol SHE sl HL A Al Axwcée

s51G2 2.

Define Metric reed count.

Adls s s1G2 ofl cauval L.
Find diameter of 13s Ne yarn in inches.
13s Ne Lol of staule 4 1L 0.
Derive Denier =9 x Tex.

Aol 52A: de{lar = ¢ x 28t

Find the denier of 2/40s Ne yarn.

2/40s Ne ol oll 3o{l2R 2.

Draw layout of 2 cards.

R 518 oll A W2 R

Find the weight of 40s Ne lea.

40s Ne Al of clogot 2.
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Calculate the production of ring frame in gram/spindle/shift from the 03
following data.

Spindle speed = 15000 rpm, Yarn count = 48s Ne, TM = 4.5, Efficiency =

90%

us. R () o{lAell [@Qotcdl uR ol ot U of Wlssalet gram/spindle/shift Hi 0. 03

Spindle speed = 15000 rpm, Yarn count = 48s Ne, TM = 4.5, Efficiency =
90%
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Calculate the production of rotor in kg/rotor/shift from the following data.
Rotor speed = 10000 rpm, Yarn count = 7s Ne, TM = 4.75, Efficiency = 95%

o(1Ao{l (Aol UR &l A2R of WSSl kg/rotor/shift Hi M.

Rotor speed = 10000 rpm, Yarn count = 7s Ne, TM = 4.75, Efficiency = 95%
Calculate the production of a sizing machine in kg/shift from the following
data

Sizing speed = 65 m/min, efficiency = 50%, No. of ends = 5900, Yarn count
= 40s Ne.

o(1Ao{l (Aol uR &l weolol Hallet of Ylssalet kg/shift Hi 20,

Sizing speed = 65 m/min, efficiency = 50%, No. of ends = 5900, Yarn count
= 40s Ne.

OR
Calculate the production of warping machine in lbs/shift from the following
data.
Warping speed = 700 m/min, Efficiency = 70%, No. of ends = 568, Yarn
count = 56s Ne

o(lAo{l (Qotcl uR &l awrdlor Hallet of Ylssalet Ibs/shift i 20l

Warping speed = 700 m/min, Efficiency = 70%, No. of ends = 568, Yarn
count = 56s Ne

Calculate the time required to prepare one lap on a scutcher from the
following data:

Lap roller speed = 9 rpm, Lap roller diameter = 10 inch, Length of lap = 40
meters, Efficiency = 80%, Lap hank = 0.001564

o{lAo{l (Aot U2 ol 25U 1ot UR A5 AU lotcll el UH

AL A ML

Lap roller speed = 9 rpm, Lap roller diameter = 10 inch, Length of lap = 40
meters, Efficiency = 80%, Lap hank = 0.001564

OR
Calculate the time required to fill one can on a card from the following data.
Doffer speed = 30 rpm, Doffer diameter = 27 inch, Can capacity = 20 kg,
Efficiency = 90%, Sliver hank = 0.1238

o{lAo{l (Aot U2 ol 51§ UR As Jot MRAAL 32l UHA AL A

el

Doffer speed = 30 rpm, Doffer diameter = 27 inch, Can capacity = 20 kg,
Efficiency = 90%, Sliver hank = 0.1238
Draw layout of 8 speed frames.

¢ Adls 31 ol A G2 €L

OR
Draw layout of 2 sizing machines.

2 wWBESL Halet Al A G2 €.

Convert 40 Tex to French count.
¥0 c&l A 5 s1G2 HL ¥R

OR
Derive: Nm (Metric count) = 2 x Nf (French count)

Ulolld 5A: Nm (Metric count) = 2 x Nf (French count)
Calculate the daily production in meters of water jet loom from the following
data.
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Loom rpm = 1200, Efficiency = 95%, PPl = 64
cdler B2 @M of [Ra of Wssalat o{lAofl [Qoldl uR &l 0l

Loom rpm = 1200, Efficiency = 95%, PPl = 64
OR
Calculate the daily production in meters of double width projectile loom from
the following data.
Loom rpm = 260, Efficiency = 85%, PPl =70

sUA ([Ase URselsd (M of [Rad of Ylssatet o{lAs{l [Qotdl uR &l

L.

Loom rpm = 260, Efficiency = 85%, PPl =70

Calculate the time required to build one cone on warp winding machine from
the following data:

Winding speed = 1100 yards/min, Efficiency = 80%, Weight of yarn on full
cone = 2 kg, Yarn count = 40s Ne.

(LAl (Aot U ol cuésslor Hallet UR A Slot MRLAL 2E UHL

AL A 0L

Winding speed = 1100 yards/min, Efficiency = 80%, Weight of yarn on full
cone = 2 kg, Yarn count = 40s Ne.

OR
Calculate the time required to exhaust one can on speed frame from the
following data.
Spindle speed = 800 rpm, TPI = 1.2, Weight of sliver in can = 10 kg, Sliver
hank = 0.1545, Draft on speed frame = 10, Efficiency = 80%.

o{lAc(l [Qotcl U ol Ul ¥ As Fot A Uls 3H UR wWicll Ul 32A

AH2L AL

Spindle speed = 800 rpm, TPI = 1.2, Weight of sliver in can = 10 kg, Sliver
hank = 0.1545, Draft on speed frame = 10, Efficiency = 80%.

Calculate the number of draw frames required to produce 3000 kg of sliver
per shift from the following data.

Delivery speed = 300 m/min, Efficiency = 85%, % waste = 0.5%, Sliver
count = 0.1593

(LAl (Qotcl w2 Yl As 2lse HL 3000 kg WABAR Olotlclcll HIZ

gecll QL 3x s A kL

Delivery speed = 300 m/min, Efficiency = 85%, % waste = 0.5%, Sliver
count = 0.1593

OR
Calculate the number of ring frames required to produce 3000 kg of yarn per
shift from the following data.
Spindle speed = 13500 rpm, TPI = 4.25, Efficiency = 90%, No. of spindles =
432, Yarn count = 60s Ne, % waste = 1%

(LAl (Qotcdl uR Yl As 2lse HL 3000 kg Alel clotlctall HIZ2 32cll

oL 51 s A L.

Spindle speed = 13500 rpm, TPI = 4.25, Efficiency = 90%, No. of spindles =
432, Yarn count = 60s Ne, % waste = 1%

Calculate the time required to prepare one warping beam with following data.
Warping speed = 600 yards/min, Length of yarn in beam = 12000 yards,
Efficiency = 80%
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o{lAo{l (Aot U2 ol As clldlol ¢l cotcll FeAl AHA AL A
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Warping speed = 600 yards/min, Length of yarn in beam = 12000 yards,
Efficiency = 80%

OR
Calculate the weight of one weavers beam from the following data.
Length of yarn sheet = 1200 yards, No. of ends in beam = 3660, Yarn count =
40s Ne.

o(lAell (AQotcdl U &l As fla] ol of aoet .

Length of yarn sheet = 1200 yards, No. of ends in beam = 3660, Yarn count =
40s Ne.

Find the average count of mill from the following data:

20s Ne = 1500 Ibs production, 30s Ne = 1200 Ibs production, 48s Ne = 1300
Ibs production.

o{lAo(l (Aot U ol Hlet ol AR s1Ge L.

20s Ne = 1500 Ibs production, 30s Ne = 1200 Ibs production, 48s Ne = 1300
Ibs production.

OR
Calculate warp, weft and cloth cover factor if yarn count is 40s Ne, Reed x
Pick = 88 x 44.

%\ Alel 5132 40s Ne Sl wa s x Uls =88 x 44 8l Al cllY, Ase ual

scllal saR 52 Ml

Calculate the weight of warp and weft in a given piece of fabric in kg from
the following data:

Tape length = 21.2 meter, Reed count = 150 metric, Piece length = 20 meter,
Yarn count = 10 x 10 Tex, Picks/cm = 28, Reed space = 130 cm, Selvedge =
1 cm on both side, No. of ends/dent = 4 (for selvedge) and 2 (for body cloth)

o(lAell (AotAl UR &l WA 5LUS all 2551 HL i\ U AS2a] clool

kg HU 20l

Tape length = 21.2 meter, Reed count = 150 metric, Piece length = 20 meter,
Yarn count = 10 x 10 Tex, Picks/cm = 28, Reed space = 130 cm, Selvedge =
1 cm on both side, No. of ends/dent = 4 (for selvedge) and 2 (for body cloth)

Calculate the production of comber in kg/shift from the following data.
Feed/nip = 4.5mm, Nips/min = 350, Efficiency = 80%, % Noil = 12%, No. of
heads = 6, Comber lap hank = 0.01867

o(1Aoll (Aol UR &l 5L61R of Ylss2lat kg/shift HL 20,

Feed/nip = 4.5mm, Nips/min = 350, Efficiency = 80%, % Noil = 12%, No. of
heads = 6, Comber lap hank = 0.01867

Calculate the production of winding machine in Ibs/shift from the following
data.

Winding speed = 1000 m/min, Efficiency = 90%, No. of spindles = 60,Yarn
count = 40s Ne.

o(1Aoll (Aol uR &l cudsslol Hallet of Ylssalet Ibs/shift 1L 2N
Winding speed = 1000 m/min, Efficiency = 90%, No. of spindles = 60,Yarn
count = 40s Ne.

Draw layout of 4 ring frames.

¥ 3ol HH o0l A wUG2 ERL.
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Draw layout of 4 auto looms.
¥ A2l ¢ ol A B2 ElRL.
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